Unit 3 problem set 1
Chapter 5

1. Describe Rutherford’s model of the atom and compare it with the model proposed by his student Niels Bohr.  Draw the Bohr model of Aluminium-27.
2. What is the significance of the boundary of the electron cloud the quantum mechanical model?

3. What is the maximum number of electrons that can go into each of the following sublevels?

a. 3p

b. 2s

c. 4f

d. 3d

4. Arrange the following sublevel in order of increasing energy: 3d, 2s, 4s, 3p, 2p, 3s
5. What is meant by 2s1?  Explain each number or letter.

6. Name and describe the three rules that govern electron configuration notation.

a.  

b.

c.

7. For the following electron configuration notation 1s2 2s2 2p6 3s2 3p6 4s2 3d7
a. Identify the element

b. How many electrons are on energy level 3?

c. What sublevels are on energy level 3?

d. How many electrons are located on the highest energy level?
e. Draw 3d7 showing the location of the electrons in the orbitals.

8. Write the electron configurations for atoms of these elements.
a. chlorine

b. nickel

c. selenium

9. How many electrons are in the second energy level of each of the atoms listed in number 8?

a. 

b.

c. 

10. Write and draw the electron configurations for elements with the atomic number of:
a. 7

b. 11

c. 23

d. 29

11.  What d sublevel electron configurations do not exist?  Why?

